

Campaign Finance Receipts & Expenditures Report 7/27/2020

Governmental Ethics Commission 901 S. Kansas Ave. Topeka, KS 66612 Office (785) 296-4219 Fax (785) 296-2548 ethics.kansas.gov

Check only if appropriate Amended Filing Termination Report

Campaign Organization Name: Stand Up Blue Valley, Inc.

Finance Address: One Kansas City Place, 1200 Main Street Suite 3800

Filing Report Address2:

City: Kansas City Zip: 64105

Chairperson Home Phone: Chairperson Business Phone:

Party Committee PAC

SUMMARY (covering the period from 1/1/2020 through 7/23/2020)		
1 CASH ON HAND AT BEGINNING OF PERIOD		\$741.19
2 TOTAL CONTRIBUTIONS AND OTHER RECEIPTS	(Schedule A) view/print	\$1,105.00
3 CASH AVAILABLE THIS PERIOD	(Add Lines 1 and 2)	\$1,846.19
4 TOTAL EXPENDITURES AND OTHER DISBURSEMENTS	(Schedule C) view/print	\$588.18
5 CASH ON HAND AT CLOSE OF PERIOD	Subtract Line 4 from 3)	\$1,258.01
6 IN-KIND (NON-MONETARY) CONTRIBUTIONS	(Schedule B) view/print	\$1,113.78
7 OTHER TRANSACTIONS	(Schedule D) view/print	\$0.00

[&]quot;I declare that this report, including any accompanying schedules and statements, has been examined by me and to the best of my knowledge and belief is true, correct and complete. I understand that the intentional failure to file this document or intentionally filing a false document is a class A misdemeanor."

Electronically filed on: 7/26/2020 8:19:32 PM Signature of Treasurer: Heather H. Lancaster

Print this form or Go Back

SCHEDULE A

CONTRIBUTIONS AND OTHER RECEIPTS

Committee: Stand Up Blue Valley, Inc.

	Name and Address of Contributor	Type of Payment	Occupation of Individual Giving More Than \$150	
I late		Cash, Check, Loan, E-funds, Other		Amount
07/19/20	David Jarrell 14404 Falmouth St. Leawood KS 66224	E Funds		\$100.00
07/15/20	James Gentry 4817 W. 121st St. Overland Park KS 66209	Check	Professor	\$250.00
07/06/20	Jennifer Hagen 14004 Hayes St. Overland Park KS 66221	E Funds		\$100.00
07/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
07/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
07/02/20	Patricia Colloton 2513 W 118th St. Leawood KS 66211	Check	Attorney	\$50.00
07/01/20	Madeline Plankers Not Available Not Available NA	E Funds		\$10.00
06/30/20	Dianne OBryan 7323 Black Oak Circle Stilwell KS 66085	E Funds		\$75.00
06/26/20	Sandra Rosalia 10503 W 159th Terrace Overland Park KS 66221	E Funds		\$25.00
06/18/20	Jean Kasselman 11111 W 120th Terrace Overland Park KS 66213	E Funds	Retired	\$50.00
06/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
06/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
05/04/20	Judith Becker 4800 W 138th St.	E Funds	Macy's Sales	\$20.00

	Leawood KS 66224			
05/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
04/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
04/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
03/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
03/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
02/16/20	Jean Kasselman 11111 W 120th Terrace Overland Park KS 66213	E Funds	Retired	\$25.00
02/08/20	Jean Kasselman 11111 W 120th Terrace Overland Park KS 66213	E Funds	Retired	\$25.00
02/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
02/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
01/30/20	James Gentry 4817 W. 121st St. Overland Park KS 66209	Check	Professor	\$150.00
01/04/20	Judith Becker 4800 W 138th St. Leawood KS 66224	E Funds	Macy's Sales	\$20.00
01/04/20	Carolyn Koesten 3310 W. 137th St. Leawood KS 66224	E Funds	Professor/Mental Health Advocate	\$15.00
Total Itemized Receipts for Period			\$1105.00	
Total Unitemized Contributions (\$50 or less)			\$0	
Sale of Political Materials (Unitemized)			\$0	
Total Contributions When Contributor Not Known			\$0	
TOTAL RECEIPTS THIS PERIOD			\$1105.00	

SCHEDULE C

EXPENDITURES AND OTHER DISBURSEMENTS

Committee: Stand Up Blue Valley, Inc.

Date	Name and Address	Purpose of Expenditure or Disbursement Candidate Name & address if independent or in-kind expenditure in excess of \$300	Amount
07/24/20	PayPal, Inc. 2211 North 1st. St. San Jose CA 95131	Fundraising Expenses PayPal Donation Fees	\$25.65
07/20/20	Wix.Com, Inc. 500 Terry A. Francois Blvd, 6th Floor San Francisco CA 94158	Miscellaneous Website Services	\$30.00
07/15/20	Minuteman Press 1404 East 24th Street, Suite B Lawrence KS 66046	Printing Printing 2020 Endorsement Rack Cards	\$110.34
07/06/20	Wix.Com, Inc. 500 Terry A. Francois Blvd, 6th Floor San Francisco CA 94158	Miscellaneous Website Services	\$47.70
07/03/20	Wix.Com, Inc. 500 Terry A. Francois Blvd, 6th Floor San Francisco CA 94158	Miscellaneous Website Services	\$47.70
07/01/20	Minuteman Press 1404 East 24th Street, Suite B Lawrence KS 66046	Printing Printing 2020 Endorsement Rack Cards	\$138.60
06/30/20	Bank of Blue Valley 13401 Mission Road Leawood KS 66209	Miscellaneous Bank Account monthly fee	\$5.00
06/15/20	Governmental Ethics Commission 901 South Kansas Ave. Topeka KS 66612	Filing Fee Filing Fee PAC Registration Fee	\$50.00
05/29/20	Bank of Blue Valley 13401 Mission Road	Miscellaneous Bank Account monthly fee	\$5.00

27/2020		Campaign Finance Schedule C Report	
	Leawo KS 66209		
04/30/20	Bank of Blue Valley 13401 Mission Road Leawood KS 66209	Miscellaneous Bank Account monthly fee	\$5.00
03/31/20	Bank of Blue Valley 13401 Mission Road Leawood KS 66209	Miscellaneous Bank Account monthly fee	\$5.00
03/02/20	Wix.Com, Inc. 500 Terry A. Francois Blvd, 6th Floor San Francisco CA 94158	Miscellaneous Website Services	\$118.19
Total Itemized Expenditures This Period			\$588.18
Total Unite	mized Expenditures of \$50 or less		\$0
TOTAL EXPENDITURES & OTHER DISBURSEMENTS THIS PERIOD			\$588.18